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<<Mwuwaénph rhy 3 ynhyhupyw>> NPLL
2018p.-h qunuiubiph  wwu

16.02.2018p.
Opwgpp' wpunwhhywunwungwjhu
Uugwunudp' dwnwniejntuubip ,woluwwnwupubp ,wwpwupuubp
1.0 Ownuwjniejntutbp
funwip-02, nwu-01, dpwahp-01,02,03,05
Uhswitighly 4nnp 2uihh Qudwt|Upwynph ght|  Clnwuttp Puwtiwl
puip' CPV ULUULNRULEN dhwynp | &l(pupwguwl Swfpuubipp hh
nuuwlwpquwt wnap) npwdni
1.1 64211100 Lwupwjhtu hbnwfunuwjhtu dwnwjnyentbutip wdhu uu 10000 120000 12
1.2 64111200 Pnuwnwihtu Yuwh dwnwjnipjnLu wdhu uu 100 1200 12
1.3 72411000 huwnbipubiwn dwnwjnieniu wdhu uu 16000 192000 12
1.4 65300000 ElGyunpnEubpghwih dwwnwlwpwpnid 44S uu 44.98| 3699605 82250
1.5 65100000 fudbnL 9ph pwptunwd g3 uu 180 119340 663
1.6 90511200 Unpwhwunipjwl dwnwjnipjnLu wdhu uu 10703 128436 12
1.7 Pdoywywu pwihnuutiph Juwuwqgbipdnid Ug uu 80 56800 71
nbGnwthnfunid W nguswgnid
90524100




1.8 Awnwqw)jpwihu uwnppwynpndutiph wuqwd uu 140000 140000 1
nnghdtuinphw
71631100
1.9 (Pd2ywywu uwpptiph W uwppwynpnidubiph wuqwd uu 30000 360000 12
50421100 uywuwnpynd
1.10 85100000 Uy wnihyhuplwlwu dwnwjniejniutbp wdhu Uu 250000 3000000 12
1.1 Cwdwwpgswihu nbjuupywjh hbn Yuwdws wuqwd uu 15000 60000 4
pupwghy ytipwunpngnud b wywhwwuntd
50311120
1.12 Muwwnbbuwhwunn uwnppbph ytpwunpngdwu wuqwd uu 50000 50000 1
50311240 dwnwjnip|ntu
113 Cwdwlwngswihu dpwgptiph uwywuwpynud , swithwpwdh uu 200000 200000 1
hhduwlwu hwdwlwngh pwuwint pwpdwgnud W u
72212180 nintiygnid
1.14 Lwppphoh |hgpwynpnid (gpwubtjwlwihu odwunwy wuqwd uu 5000 50000 10
79500000 dwnuwjniejniuubin)
1.15 Lwyhs-npwdwpynuwihu wdhu uu 3000 36000 12
dbpbuwjh uwywuwnpynwd
50311000
1.16 (atpptiph LW wduwagpbph wuqwd uu 6000 72000 4
pwdwunpnwagnpnientu
22211100
1.17 71631120 Uywndbpbuwih inbluquunwd wuqud uu 11500 11500 1
1.18 66511180 Ugwndbpbuwh , UNMU wuqwd Uu 25000 25000 1
1.19 80511100 Uwutwgbwnubph ypuwwwwnpwuwnnid dwpn Uuu 31250 250000 8
1.20 66110000 Pwulwihtu dwnwjnipjnlu wdhu uu 3000 36000 12
1.21 50610000 Uuywnwugnipjwt wwwhnydwl dwnwjnieintu wdhu Uuu 10000 120000 12
1.22 90923000 NYhpwnhqughnt dwnwjnieintuubn hwun uu 20 100000 5

2.0 UchuusSuLLLer

2.1vnrnenku




Uhgwtghly Quuthh Qudwu| Uhwynpp| Cunwdtup| Lwuwly
Ynnp puyr’ dhwynp | &u(pupwg ghu| Swfuubipp
CPV Uotuwwnwupubph wudwunuip wlwpap) hh npwdny
nwuwlwpqd
wb
2.1 45000000 Chkuph pupwghly Uunpngnd wugwyd me|( 21200001 2120000 1
2.2 SMUGMULUL UChUSULLLEN (Guwpnebtph
nwwgpiwt woluwwnmwupubp)
Uhowughy Ynnp Quithh dhwynp Qudwu| Uhwynph ghtu Cunwdbup Lwuwy
puwn' CPV Uujwuntd al(pupwgwlwn Sdwfuubipp hh
nwuwlwpgqiwl 4n) npwdny
221 Yanwhwuh /18 w./thnfuwnpuwl bgpuljugnejw huin Ju > 1500 300
22820000 wnhwwhu 6u A4 1tpkiu 0360q
2.2.2 Unnnontejwu wuduwghnp /wdpniywwnnp hwuwn uu 5 4000 800
wnhyhupywywu hwunwwnnijwu Ynndhg npynn/
22820000 A4, 2bptu  0DH60q
2.2.3 Unnnonipjwt wnwotwjht wwhwwudwu hwn uu 4.5 270000 60000
Swnwjniejntuutiph dJwunnigdwtu hwypywndwu &l
22820000 0002/1 A4 2 tpiu 0$H60q
224 Unnnontpwl wnwgwht wwhuuwbdul hwun uu 4.5 9000 2000
dwnwjnipntuubp dwwnnignn pdoyh punpnyejwup
22820000 qwybpwgunn gpwugdwu &b A4 1 Gptiu 0H60q
2.2:5 18 U pwp&p wmwphph wudwug pdoywunghwwywu huin uu > 750 150
22820000 thnpdwpuuntejwu nintighp A4 2 tipiu 0$60q
2.2.7 UuhwwnwYwu pwpwn hnnhh W duunywuh A3 3 ptipp 2 hwun uu 60 18000 300
22820000 tptiu O 60 q
2.2.8 22820000 Unwnph wwpwupwaghp A4 1 tpbu 0$60q hwun Uuu 5 5000 1000
2.2.9 22820000 Muwhwuowaghp U N2 A5 2 bipiu 0$60q hwn uu 2 1000 500




2.2.10 StinGYwaghp woluwwnwdwdwuwyh hwajwnyh A3 1 hwun uu 10 700 70
22820000 tptiu 0$60q

221 Utidnphwy| opnbip /nhwwhu au N 274/ AS 2 tiptu hwn uu 2 400 200
22820000 0560q

2.2.12 Gpbluwyh /wnohy wnnw/ pdalwlywu huynnniejwu hwun uu 160 64000 400

wdpnywwnnp pwpwin Ywqd fupnd 300 g dhony

22820000 09$60q

2.2.13 Ubdwhwuwyh wdpnywunnp pdoywlwt pwpun Ywqd hwuwn uu 140 140000 1000
22820000 fupnd 300 g ,Uhonty, 0$60q

2.2.14 Uwpnwwwnp wywnndbipbuwh Gpeninuiht etipe AS 1 hwwn uu 2 400 200
22820000 tptiu 0$60q

2.2.15 Ywufuwngbihs Wwwnjwuwnnwubiph db A NO631/2 hwun uu 30 3000 100
22820000 A3 1 tipbu 0H60q

2.2.17 Lwnyuwdp/vtdwhwuwly wdpnywwnnp pdolwlwu hwwn uu 2 2000 1000
22820000 pwpnwnhg/ A5 1 tiptiu 0$60q

2.2.18 Lwnyuwdp / dJwulwlwu wdpnywwnnp pdoyulywu hwuwn uu 2 2000 1000
22820000 pwpwnhg / A5 2 iptiu 0$60q

2.2.19 22820000 Utigh wuwihgh duwpeninp A6 2 tptu 0$H60q hwn uu 1 5000 5000

2.2.20 Upjwu phnphdpwywt wuwihgh duwenine A6 1 tiptu hwun uu 1 6000 6000
22820000 0560q

2.2.21 Nintighp/dwutwghwnmwlwu funphpnwwyniejwu Ywd hwun uu 2 3000 1500

[wpnpwwnnp wiunnpn2hs hitnwgnunnie)niuutiph/ AS1

22820000 tiptiu 0$60q

2.2.22 22820000 Upjwtu wuwihgh duwpnine A6 1 tptu 0H60q hwn uu 1 7000 7000

2.2.23 Uhqwubnwywu opqwuubiph wpwnwnpniejwu hwun uu 1 1000 1000
22820000 puunipjwu A61 iptiu 0$60q

2.2.24 Udpniwwnp pwpwnh dhonty /dadwhwuwlyh/ 1/2A3 2 hwn uu 10 10000 1000
22820000 tptiu  0$60q

2.2.25 Uwuywlwu wdpniwwnp pwpunh dhony 1/2A3 2 hwn uu 10 10000 1000
22820000 tptiu 0$60q




2.2.26 22820000 Ybinunh wuwihgh duwpenine A6 1 tiptiu 0$60q hwun uu 1 1000 1000

2.2.27 “Hnwuwunndu /unynpwwt/ Htenwnnduwhu duwpnine hwuwn uu 2 12000 6000
22820000 N3 A5 2 tipbu 0$60q

2.2.28 29820000 Muwppbpwlywu quudwu gpwugdwl elipehy A4 2tptu huin uu >8 1000 200

2.2.29 |22820000 Pnfuwuwlydwu pwpin A4 2 tiptiu 0H60q hww Uu 5 1500 300

2.2.30 |22820000 Twdwpynh dnunph opnbtip A5 1 pkiu 0$60q hww uu 2 1600 800

2.2.31 22820000 TYwdwpynh Giph opntip AS 1 tipbu 0$60q hww Uu 2 1600 800

2.2.32 AHnwunndu wuybwp huptwwwundting b hwun uu 9 90000 10000
22820000 hwdwpwlwjwd A5 2 tpbiu 0$H60q

2.2.33 |22820000 Nintighp hwybywd 6 A6 1 iptiu 0$60q hww uu 1 25000 25000

2.2.34 |22820000 Cwohy wwypwupwaghp A4 1 tpbu 0H60q hww Uu 5 2000 400

2235 Cwpytnynipywi 8l /nbinwnwi Yud wiwg prid huun Ju > 1250 >0
29820000 pnn9 Ujnipwlywu wndtipubiph/ A4 2 bpu 0$60q

2.2.36 Lwaybuinynipjwt &l / uphubinubph unipwywu huin uu > 1000 200
29820000 wndtiputiph gwndh/ A4 2 iptiu 0360q

2.2.37 Upjwu wuwlhgh &duwpenine / htdngnpht/ A6 1 Gptu hwun uu 1 1000 1000
22820000 0%60q

2.2.38 |22813000 Shwwjhu dwunjwuubin,100pkbpeWUNg hwn uu 600 30000 50

2.2.39 22813000 Shwwjhu gppbip Ynown Yugdny 200 phipe hwn uu 2000 40000 20

2.2.40 Upfluwwnnnh wuhwwmwwu pwpuin A4 2 tptu Fupnd hwun uu 40 4000 100
22820000 300qg.

2.2.41 22820000 “Hannpwjph ntiunp A4 1 tiptiu 0$60q hwn uu 5 250 50

2.2.42 22820000 Jdhbwlwgpwlwu Yupnu A5 2 tpbu 0H60q hww Uu 2 3000 1500

2.2.43 Lwpun hwjwwwmwnnipjwu oguniejwu nhdnnh A3 2 hwun uu 9 720 80
22820000 tiptiu 0% 60q

2.2.44 hwun uu 1 100 100

22820000

Lhwgnpwagphp <wdwpwlwjws A6 2 tiptiu 0$ 60q




2.2.45 22820000 Qnpdnindwu yywjwlwu AS 2 ptu 0$ 60 hwun Uuu 2 120 60

2.2.46 Uofuwwnwywnéh hwoqwpydwu gnigwly A3 2 tpbu hwwn uu 9 1350 150
22820000 0% 60

2.2.47 Lwpun wnwouwhtu htnmwgnundwu hwdwp A4 1 bipbu hwwn uu 5 500 100
22820000 0% 60

2.2.48 Sniptipynyngny hhywunh u wygbnipjwu plipehy A4 hwuwn uu 5 500 100
22820000 1 tptiu 0$60

2.2.49 Sniptipynyyngh (wpnpwwnnphwyh nintigph au TBOS AS hwuwn uu 2 200 100
22820000 2 tiptiu 0% 60

2.2.50 Sniptipynyyngny hhjwuh wuhwwnwlwu huynnniypjwu hwwn uu 30 3000 100
22820000 pwpwn 1/2A310 Shwwn 0D 60

2.2.51 Jdéwpdwu hwuduwpwpwghp huptwwwwndbng AS 1 hwwn uu 8 12000 1500
22820000 tpbiu

2.2.53 29820000 Cwojwnlwihu rbipehy 13,3udx10 ud 1 Gptu 0% 60 huin uu 1 >00 >00

2.2.54 29820000 Qnypwagpdwu gnigwlyutiph dhonty A3 2 tiptiu 0% 60 huin uu d 270 30

2.2.55 29820000 Qnypwagpdwu gnigwlutiph Gpbu A3 2 Gptu 0% 60 huin uu d 135 15

2.2.56 <hduwlwu dhongubiph nnipu gpdwu wywn A4 2 bpbu hwwn uu 5 100 20
22820000 0% 60

2.2.57 Epbluwh pdolwywu pwpwn nupngulwu b hwwn uu 40 18000 450

Uwluwnwpngwwu hwuwmwwnniejniuubiph hwdwp A4

22820000 2 tiptiu 8 Rbipp 0% 60

2.2.58 Ywqlwpwpwwu woluwwnwupubp Ywqdb) A4 2 hwun uu 300 18000 60
22800000 ptpe fupnd 300q

2259 20820000 |MEUNGY  wwnwutuwith plnphl A5 1 bntu 0% 60 hun u 2 1000 >00

2.2.60 Qtipéwjuwihu hGnwgnuniejwt wWwwnwufuwu AS 1 hwun uu 2 1000 500
22820000 tptu 0% 60




2.2.61 22820000 Cuww hwnnpndwu plipehy AS 2tptu 0% hwun uu 2 2000 1000

2.2.62 “Yhuwwuubip hhqwunh huynnnipjwu pwpui fupnd hwuwn uu 10 5000 500
22820000 200

2.2.63 |22820000 Al 39 pdoyh opwghp AS 2 tiptiu 0D 60 hwn uu 2 1200 600

2.2.64 Utipninghwwu hGunwgnunnigyniuutiph dbwenine A61 hwn uu 1 500 500
22820000 tiptiu

2.2.65 22820000 Pnid yhbwwaghp A6 1kipkiu hwn uu 1 800 800

2.2.66 <nhubiph gbipdwjuwihu hGwnwgnwuniejniuutiph hwuwn uu 5 1500 300
22820000 wpdwuwagpnipintu N3 A-4 1 pku - 0560q

2.2.67 <nhubiph gbipdwjuwihu hGwnwgnwuniejniuutiph hwwn uu 5 1500 300
22820000 wpdwuwagpnipintu N2 A-4 2 bptiu 0$60q

2.2.68 <nhubiph gbipdwjuwihu hGwnwgnwuniejniuutiph hwuwn uu 5 1500 300
22820000 wpdwuwagpnipintu N1A-4 1 tipbu 0$60q

2.2.69 Nhunpwdwjuwihu hGunwgnunipjwt ywwnwufuwu A- hwwn uu 5 300 600
22820000 42 bpbu  0$H60q Yhu

2.2.70 Nhunpwdwjuwihu hGurnwgnunnipjwt Ywwnwufuwu A- hwuwn uu 5 1500 300
22820000 42 bpbu  0H60gunwlwpn

2.2.71 29820000 Ouynghwnninghwjh nintighpA- 51 tpiu 0360q huwun uu 2 2000 1000

2.2.72 Ouynghwninghwjh hGinwagnunypjwl ywwnwufuwuA- hwuwn uu 2 2000 1000
22820000 51bpGu  03H60q

2.2.73  |22820000 nbntywup ung hwpbtiphN1A-4 1 tpbu 0$60q hwn uu 5 2500 500

2.2.74 pwpwun twluwg. hbGnwgnunigjwu b pd. hwun uu 5 2000 400
22820000 thnpdwplunijwu

HHEHHH <nhh huynnnipjwt wwpunwnhp dwywutipp hwn uu 5 4000 800
22820000 hwoywndwu du

HHEHHH pwnwn qnpwly. hGwwgnunyejwu U pd. hwn uu 5 2000 400
22820000 Pnpdwptuniejwu A-4 1 pkiu 03H60q

HHHHHHH AHinwuwnndu htgbidtn nbintph hwdwn hwun uu 3 900 300

hwdwpwwws AS 2 tiptiu 0$60q




Lwhiwqbéwjht wluwwnmwupubp

2.2.2 71242000 Chuwpwpwlwu woluwwnwupubph twhuwgdnid hww uu 200000 200000 1
3. unruvLeuer

Uhgwtghly Quipp| Qudwu &U| Uhwynph| Cunwdbup|  Lwuwly

IR0 3 SUSEULMUL UMPULRUGR, UULEhAEUNY dpuidnp | (pUpuigwly ahtl  Swfuubinp

il wnqp) hh npuwdny

nwuwlwpqd td L4USLh UnPRN3LLN

whb
3.1.1 31651000 Utyniuhs dwwwytiu hwun uu 200 800 4
3.1.3 31331130 Uwintfu 4 X2,5dd pwn. qd. U Uu 450 22500 50
3.1.9 31685000 Gplwpwgnighs jwp 54 hww uu 2150 4300 2
3.1.11 31684400 Jwpnuwly hww Uu 650 6500 10
3.1.12 31686000 fupng hwwn uu 250 2500 10
3.1.15 31521300 Lnwwynpdwt jwdwy 220x100 hww Uu 100 20000 200
3.1.16 33/61100 2niqupwuh pnine hwwn uu 120 14400 120
3.1.17 39831242 LJwgph thnoh dbnpny [wuwint hwdwp 450q hww uu 500 5000 10
3,1,18 39831243 Lwgph thnoh wywnndwn dbpbuwih Ug uu 1500 15000 10
3,1,19 39831241 O6wn 100 q33711900 hww Uu 200 30000 150
3.1.20 |39831272 Uwniug hww uu 100 10000 100
3.1.22 44831100 Ywhnyph (wp hww Uu 1000 5000 5
3.1.23 39836000 Udby hww uu 1000 15000 15
3.1.26 39831000 dwyb| /Ynugbuwnppl / lhup Uu 300 4500 15
3.1.28 39813000 Lywgwpwtu U dwppnn Ujnietin htnniy hwn uu 600 6000 10
3.1.29 44411300 Uh$nu /qn$nb/ hww Uu 2000 10000 5
3.1.30 (44163200 BYntu wugnid 60 ud hww uu 1300 6500 5
3.1.31 44163200 Aynw wugnd 90 ud hww Uu 2000 10000 5
3.1.32 42131000 Onpwl wpduywalbpynt thwywuny (pnuwlyny) hwn uu 5000 25000 5
3.1.34 (44521120 Pwlwuubip ubpup hww Uu 2500 5000 2
3.1.35  [44111540 Uwuwyh pwn. U uu 4000 40000 10
3.1.37 44192600 Qudbp 100ng Ug Uu 1500 1500 1




3.1.38 44411300 Lywgwpwu hwn uu 18000 18000 1
3.1.39 44111410 Lbpy wwwh Ug uu 1300 13000 10
3.1.40 24910000 Unuhud wnihyhuhjwghwnwwwiht /Ednyuhw/ Ug Uuu 1000 3000 3
3.1.47 44521110 GUpnnnubiph hwywu hwn uu 3000 6000 2
3.1.48 44521110 Pulwu hwn uu 2000 4000 2
3.1.49 44163170 MNtwnhub funnnguwly d uu 650 9750 15
3.1.55 44111200 8tidbuwn Ug uu 50 25000 500
3.1.59 44521210 Pwlwuh dnup hwn uu 2000 8000 4
3.1.61 44111414 LtipY ( ywwnbiph) jwunbipu Ug uu 800 20000 25
3.1.63 31440000 Uwpwynguubip gyniyndbiinph b dwdwgnygh hwn uu 500 20000 40'
3.2 EBUSPNSthuLhuu LELSUNU3PL
vureudnrnhuuer
Uhowitighly Ynnp Quuthh dhwynp Qudwu &u| Uhwynph ghtu Cunwdbup Lwuwy
puy’ CPV Uuywunwip (pupwgwlwngp Swfuutinp hh
nwuwlwpquwb ) npwdny;
3.2.2 39715250 El. Jwnwpwu hwun uu 15000 45000 3
3.2.3 39713510 Upnnty hwn uu 20000 20000 1
3.3 <UWWuLUrqU3nt b4 MUSacLUCULUUL
uurLudnrnrUver 64 OduLTUU L3NKEEN
Uhgwughly Upwdnph| Cunwdbup| Lwuwy
Ynnp pun’ ght| Swfuubipp
CPV Uudwunuip hh npwdny
nwuwywngu
wl
3,3,1 30125120 Lubipnpuh ubiply 500 Ug uu 7000 14000 2
3,3,2 30234620 Lhonnnipjw EjlGYunpnuwihtu Yphs hwn uu 4000 8000 2
3,3,3 30211280 Cwdwlwnghs ( YnduytYwn) uu 250000 250000 3
3,3,4 30237411 Cwdwlwngswihu UYuhy hwn uu 2000 4000 2
3,3,5 CwdwYwpghsh nwhs(cenon Ywd hwun uu 30000 3000 1
30232132 hwdwnpdbipp)wgbpwjhu




3,3,6 30237250 CwdwYwpghsubiph dwppdwt wwpwaqwubp wintth uu 2000 6000 3
3,3,7 30121390 nwhsh pUpYwguwp(hp laser 1010wy hwdwndtipp) huitn uu 2500 2500 2
3,3,8 30237490 Cwdwlwngsh unbnuwownp hww Uu 4300 8600 2
3.4 udsnmu<susuuvuuer
Quithh dhwynp Qudwu| Uhwynph ghu Cunwdbup Lwuwy
Uujwunidp al(pupwgwywn Swluubipp hh
qn) nnwdny
3.4.1 Uhgwitighly nnp hwwn uu 1500 1500 1
puwn' CPV 3””lh thﬁ
nwuwywngdwu
3.4.2 34321121 Onh qups hwun uu 1400 1400 1
3.4.3 34321121 pGughuh quhg hwwn Uuu 3000 3000 1
3.4.4 UndwtYywn uu 1
34311160 | ndenh :4 lhl:uuf 6000 6000
3.4.5 34311160 Undbp Yndytyun 4hwwn Ynd Uu 3000 3000 1
3.4.6 34321110 thnfuwugdwl wnntth hwun Uuu 90000 90000 1
3.4.8 Upqbjwydwuuwnppbp(nnpdnighfunnnjwy)ntiinhub qnyg uu 4000 4000 1
34321130 qnyq
3.4.9 Upqbjuwydwu uwppbp (ninpdnigh uinnyw UndwGYun( uu 7000 7000 1
34321130 hbwinlh)pdpniywihtu 4 hwun
3.4.10 Uuhyubiph hwjwuwpwyondwu uwppbip (nwqyuwih 8hwwn(ynd uu 6000 6000 1
34321190 ninyyh)ynduytyun wbyw)
341 34321950 NLYwuhyp untubp Winnuhtip (nnybiyny njwqu)yndy Hndw[bﬁgg uu 18000 18000 1
3:4.12 34321950 NLYwuhyp untubp Winnuhbp(Qwnwyn))yndyGYn hwm)q:; uu 14000 14000 1
3.4.13 ALYwuhyh untubp Wnnuhbp( onwugh YndyEYyw uu 4000 4000 1
34311210 nbghu)ynduytlyun
3.4.14 Uuhdubph Jwubp bW wwpwqwubp (unniyhgh qnyg uu 5000 5000 1
34321190 wwsluhy) qnyq




3.4.15 34330000 fuwgniy ( YpGuwnwyht) hwn uu 3000 3000 1
3.4.16 34330000 qwgbiph wpwmwubndwu funnnjwlubp YUnduyGYwn uu 9000 9000 1
3.417 34330000 Uywywnwy hwn uu 6000 6000 1
3.4.18 34330000 Lwnywdwdtinuhs hwn uu 15000 15000 2
3.4.19 34330000 wuhyubip hwn uu 18000 72000 4
3,9,20 134321200 dwjuwfujwgnighs hwn uu 10000 10000 1
SpEuwlwu whunnypubp b uynyebp
Uhowtighly Ynnp Quithh dhwynp Qudwu &u| Uhwynph ghu Cunwdbkup Lwuwy
putp' CPV Uujwunidp (nupwgwywngp Swluubipp hh
nwuwlwpgquw ) npwdny;
3.5.1 @nine A4(2,5 Uq)ywd dinly nnuh A4, shwdbwd wnintth uu 1800 108000 60
pNNR, ogunwagnndynid £ tnwwagpdwu hwdwp,
pbhyubp sywpniuwynn, dGfuwuhywlywu Gnuwuwyny
30197622 unwgywd, 80 g/u2, (210X297) u
3.5.2 Qnhs /cello ywd hwdwnpdbp/ Funhywynp wnwnpptip hwun uu 100 40000 400
gnyubph, mwpptip nbuwyh Yunnigwdpny, dtd b
3.5.3 2np unuhud gpwubtjwywjht (unuudwdwwnhuwn), hwuwn uu 200 10000 50
enine unuudbiint hwdwp eneh unjwpwenpeh W
30192710 mbpumhlh
3.5.4 Uwwhin  gpuwhuny /hwihnily Spuwbhint dhonty hwun uu 70 1400 20
dfuwuhyuywu dwinhnp hwdwp, wujwuwlwu
wnpwdwagdtpp' 0,5 dd U 2,0 Jdd, Yupdpnipyniup HB,
30192130 Q0US M 50249-92 Ywd hwdwndbpp:
3.5.5 (Hawnhtu/ Ntinhub guong ///uwhwnwy- Yuwnyw/ hwun uu 90 2700 30
Uwluwwnbuwd dJwinhwnny gpwdubpp dwpnpbnt
30192100 hwdwnp:
3.5.6 22815000{Skwp dts /A4 Snpdwinp/ hwn uu 450 4500 10
3.5.7 22815000 Stwp thnpp /40 phippwung/ hwn uu 100 3000 30




3.5.8 Upwqwywp Upwqwlwp juwybwd unjwnpwenrehg, hwun 100 10000 100
danmwnwywu wdpwyny, A4 (210x297) dd dluwswtihh
22851100 pbpebph hwdwp
3.5.9 30197231 duwj| winith uu 1000 5000 5
3.5.10 30192160 pwnwnpwujnie/onnhfu/ hwn uu 300 3000 10
3.5.13 30192114 (Gwuwp Yuhph pwpéhyh hwdwp  /Yuwnyw/ hwn uu 2
3.5.15 Spwubtjwlywihu gpptin100RLPRWINNWUN, uwhwnwy hwun uu 550 44000 80
22800000 Eobipny
3.5.16 301992100 hwoywppwuwnp gpuubljwywihu hwun uu 1600 12800 8
3.5.17 Ipuwublywluwht Yunhsubinh SEnwnwwnb Guwtn, wnntth/1000 uu 150 4500 30
30197100 |Ub PIUubANG' , 24 U0/6 U, 26 /6 U hun
3.5.18 Spwubtjwlywihu Yuphsubipp denwnwwpt uwbp hwun uu 85 850 30
30197100 thnpp pinjubipny' 10 4u/6 ud:
3.5.21 Spwubtjwlywihu Yunphs 30-hg dhusl 50 phipe hwun uu 1500 3000 2
30197322 dEnwnuwijwpb uwwbpny wdpwgubnt hwdwp
3.5.23 |30197230 (enpwwwuwl dwjtpny hwun Uuu 650 6500 10
30197200 3.6 udsnuesLtLU3Pk YUNGLPL By LUUSNREN
Quithh dhwynp Qudwu| Uhwynph ghu Cunwdbup Lwuwy
Uujwunidp al(pupwgwywn Swluubipp hh
qn) nnwdny
3.6.1 9132200 PLughu nbigniywp thunp uu 480 960000 2000
9132200 uwnbigdwu htinnwy lhwip uu 1000 10000 10
3.6.2 Luwjninbip (pwndhsh jnin) thunp uu 2500 50000 20
3.7 PNhd UUrLUMN/NRULER, SNPOPLLEN,
92114100 nuUrueuLsr 64 dhruuumnuuwuy L3nkfeer
Uhowtighly Ynnp Quuthh dhwynp Qudwu &u| Uhwynph ghu Cunwdbkup Lwuwy
puip' CPV Uujwunidp (nupwgwywngp Swluubipp hh
nwuwlwpguwt ) npwdny;




3.7.1.1 wmnundbtivp $nubunwuynwny jwju tYypwuny hwun Q< 7000 105000 15
wnwudhyny
3.7.1.2  |30197641 EUS h wwwpwwn hwun QL 600000 600000 1
3.7.1.3  |33121190 hojwnbip hww Q<] 1800000| 1800000 1
3.7.2 Pnid wwpwgwubip bW Jhpwwwwlwu ujniebn
3.7.2.1 133141115 Fwdpwl ns unbiphi <wn Q< 88 22000 250
3.7.2.2  |33141115 Pwdpwl unbiphg <wiwn Q< 193 9650 50
3.7.2.3 Phuwn ghwu <wtn Q< 310 6200 20
33191310 Pnpdwunp twfuwwnbujwsd ghunphdniquih hwdwp Q< 64.08
3.7.2.4 uphony Lwwn 12816 200
33191310 Pnpéwunp twjuwwnbujwsd gunphdniguih hwdwn q< 70
3.7.2.5 wnwlg uhoh Lwn 35000 500
3.7.2.6 (33141110 Fhuwn uwnbiph; Lwn QL 92 13800 150
3.7.2.7 133141110 Fhuwn ng unbiphg <wn Q< 90 13500 150
3.7.2.8 (31651200 E4S Qbipdwjhu pninpe Lwn QL 446 62440 140
33141159 Abinungubip quudwu’ ng unbph| wnwug wwyny Q< 15
3.7.2.9 Lwn 75000 5000
3.7.2.10 (33141156 Atinungubip pdolwlw’ unbiphy, Lwwyny qnygq QL 81 202500 2500
3.7.211 |33141114 Uwnyw 5u <win Q< 400 48000 120
3.7.212 |33141142 Lbipwpyhs wubnny 24; Lwn Q< 1.2 33600 3000
3.7.2.13 |33141142 Lbpwnlhs wubinny 34) Lwin Q< 11.1 16650 1500
3.7.2.14 (33141142 Lbpwpyhs wubinny Sdj <wn QL 11.5 17250 1500
3.7.215 |33141142 Lbipwnyhs wubinny 104; Lwn QL 18 3600 200
3.7.2.16 (33141142 LUbpwpyhs 14) Lwn Q< 8.5 5100 600
3.7.2.17 |33141211 Qbtpdwswih Lwn QL 245 12250 50
3.7.2.18 (33191310 Ywlynuwwiht thnpdwunp wnwud hwybjwujnieh <wn Q< 33 99000 3000
3.7.2.19 |33141143 UYywph$hYwinnp Lwin Q< 3.28 32800 10000
3.7.2.20 |33161220 Cujwnb] <wtn Q< 4.5 9000 2000
3.7.2.21 |33141111 Yusniu dwwwybu Lwn QL 176 3520 20




33141111 Ywsnu dwwwybu /uwunwyhy Ywd hwdwndtip/ Q< 30
3.7.2.22 <wiwn 3000 100
Uuhwwnwlwu ogunwgnpddwt’ uwdwu wnwynpp' Q< 13
ubipddnn
UnwpYwjwywt wwwyh
3.7.2.23 33751100 Lwn 113000 1000
33791300 Unwpluwjwywt wwwyh gpundwu hwdwn Q< 13
3.7.2.24 Uwluwwnbuwd nwownny wn 6500 500
3.7.2.25 (33791300 Unwpywjwywt wwwyh <wn QL 10 25000 2500
3.7.2.26 |33791300 owdljwuwwyh Lwin Q< 3 1500 500
3.7.2.27 133791300 (tnjbjh whwbiwn <wn Q< 144 28800 200
3.7.2.28 33141129 “thdwl Jhwudwag nbghub uwuwhsubipny <win QL 7.5 7500 1000
3.7.2.29 |33141160 Unungpwbhwih gl 250 dj QL 248 24800 100
33771400 Yna2ywgnyuww Q< 4
3.7.2.30 Lwn 3200 800
3.7.2.31 (38431720 Udunndwwn Ywenghlh dwjpwlwiutp Lwiwn QL 1.9 3800 2000
3.7.2.32 (38431720 Udunndwwn Yuwenghyh dwjpwlwiutp Lwwn QL 3.2 3200 1000
Ntuwngbu dwwwybuubipp Gplwyhs Q< 6900
3.7.2.33 24931500 Lhwp 34500 5
3.7.2.34 (33111140 MNGuwngbu $ynipn dwwwybu Lwiwn QL 45000 225000 5
Ntuwngbu dwwwytu Q< 22500
3.7.2.35 |32351230 <win 112500 5
Ntuwnqgbu dwwwytu Q< 14000
3.7.2.36 |32351230 <win 84000 6
3.7.2.37 32351230 Ntuwngbu dwwywybu Lwn Q< 8800 52000 6
MNtuwngbu dwwwybuubph wdpwyhs Q< 6900
3.7.2.38 |24931600 Lhwp 34500 5
YGuuwphdhwlywu YytGpndhsh hwdwp twjuwnbuwsé QL 880 9
3.7.2.39 32351230 pninRe-dwuwwytu <wwn 10560




Uhowughy Ynnp Quupp dhwiynp Qudwu| Uhwynph ghu Cunwdbup
h/h puwn' CPV Uujwuntd al(pupwgwywn Swfuutipp hh Lwuwy
nwuwywngdwu qp) npwdny]
3,8,1, 24211140 Ugntp Enght puwn Mndwunguynt hwun Q< 11000 22000 2
3,8,2 24311190 Ugnunwlwu pent Ynugtuwnphy thwip q< 2200 4400 0.5
3,8,3 24321440 Lwgwluwpent Ynugbunphy Lthwp QL 2200 4400 0.5
3,8,4 24451140 Unipdwupnu thinp Q< 9000 18000 2
3,8,5 24451140 Lbpubiwunu G+ Lthwp QL 11000 44000 4
3.8.6 Lywgnn htinny uwfuwwnbujwsd phnphdhwlwu Q< 3500 42000
o 24451140 gtipindhsh (yuwgdwu hwdwp 504 hwun 12
3,8,7 24451140 Uwyntu nnt jud hwdwpdbpp thinp Q< 3000 15000 5
3,8,8 24451140 MpLiuwywn hwun QL 12 12000 1000
(dhptininnpnw hnpdnuh npn2dwt hwdwp Q< 270 54000
3,8,9 33141179 Uwhuwwnbuwd hwywpwdnt hwun 200
3.810 Spnwynuhu b uyhwnwynigh npnadwu hwdwp Q< 800 160000
o 33121270 Uwluwwnbuywd hwywpwdnt hwun 200
UUUS-h npnodwt hwdwp twfuwwnbuywd Q< 32 16000
3,811 33141179 hwywpwdnt hwn 500
Uquwwn phpopuhup npn2dwt hwdwp bwjuwunbujwsd Q< 270 27000
3,812 33141179 hwywpwdnt hwn 100
3813 Q< 32 16000
o 33141179 ULUS-ph npnadwt hwdwp twfuwnbujwd hwyjwpwont hwun 500
3.8,14 33141179 (FhpGnwbipopuhnwquwih uywundwdp Q<
hwlwdwpdhuubiph npnadwt hwdwphwywpwdnt hwtn 270 54000 200
Ywghnnuhu hnpdnuph npn2dwt hwdwp Q< 600 120000
3,815 33141179 Uwhuwwnbuwd hwywpwdnt hwun 200
(Gwpuywd wpjwu hwyintuwpbpdwu hwdwp Q< 300 30000
3,816 33210000 Uwluwwnbuywd phun hwun 100
3,8,17 33210000 Ugnwhpwd-dhupdtin wnntth Q< 2200 2200 1




Ww wdhjwgh npn2dwt hwdwp bwfuwwnbuwsé Q< 175 35000

3,818 33210000 hwywpwdnt hwwn 200

3,8,19  |[33211110 Utigh ebuwn unphy hwwn Q< 56 5600 100
Qyntynquih npnodwt hwdwp bwiuwnbujwsd Q< 13 91000

3,8,20 33211120 hwywpwdnt hwwn 7000
funGuptiphuph npn2dwt hwdwp twjuwwnbuwsé Q< 25 100000

3,8,21 33211130 hwywpwdnt hwwn 4000
LDL hunjGupbphuh npnodwt hwdwp twhuwwnbuywd Q< 120 36000

3,8,22 33211130 hwywpwdnt hwwn 300
HDL hun|Gupbtphuh npnadwt hwdwp twjuwwnbuwé Q< 15 34500

3,8,23 33211130 hwywpwdnt hwwn 300

3894 Fpihnniphtp (ntnnwyp W punhwunip) npnadw Q< 300
T 33211140 hwdwp twhiwwnbudwsd hwywpwdnt hwn 32 9600
Uhquujnysh npnodwt hwdwp twjuwwunbuywd Q< 29 29000

3,8,25 33211150 hwywpwdnt hwwn 1000
3896 Uptiwwnhuhuh npnadwt hwdwp twuwnbujws Q< 15 9000

T 33211160 hwywpwdnt hwwn 600
3.8.97 Sphaglhgbphnh npn2dwu hwdwp twfuwwnbuwsd Q< 58 17400

T 33211180 hwywpwdnt hwwn 300
Lwywdwpdhu A-h npnadu hwdwp bwfuwnbuywd Q< 10 3000

3,8,28 33211190 hwywpwdni/gnhlynu/ hwwn 300
Lwywdwpdhu B-h npnadt hwdwp twjuwwnbudwé Q< 10 3000

3,8,29 33211200 hwywpwdni/gnhlynu/ hwwn 300

3830 Lwlywdwpdhu D-h (ntignwu gnpdntu) npnadwt hwdwp q< 350
" 33211220 Uwhuwwnbujwd hwdwpwdni/gnhynt/ hwwn 16 9600
3.8.31 Q< 45 45000

T 332111230 UNN npnadwt hwdwp tfuwwnbuwsé hwjwpwént hwun 1000
3.8.39 Q< 53 31800

T 33211240 RF npnédwtu hwdwp twiuwwnbuwsd hwywpwédnt hwun 600




3.8.33 C-ntwlyuhy uyhunwynigh npnadwu hwdwn Q< 68 88400
o 33211250 Uwluwwnbuwd hwywpwdnt hwun 1300
Ywighnudh npnadwt hwdwp bwuwwnbuywd Q< 22 44000
3,8,34 33211300 hwywpwdnt hwun 2000
(Fpndpnwwuwnhup npn2dwu hwdwp bwfuwnbugwsé Q< 45 67500
3,8,35 33211310 hwywpwdnt hwun 1500
3,8,36  |33691159 Na-h ghwphynud 3.8% gpwd QL 8 2400 300
3,8,37  |33691162 S hgtiphu Lthwp QL 1500 1500 1
3,8,38 33691162 Uni$nuwihghjwpent gpwd Q< 10 3000 300
3.9 H+616r b4 MUS4UUSUL3NK @GN
Uhowtighly Ynnp Sudwu Cunwdbup
putp' CPV Fudwu wnwplwih wujwuntd Quithh dhwynp | du(pupwgwywn|  Uhwynph ghu Swluubipp hh Lwuwy
nwuwlwpguw qp npwdny;
3,9,1 33642230 Lunphpnpuhtuh twunphnwd 100dg ntnwhwun qC 14.93 74650 5000
3,9,2 33611170 Ypnunwybphup hphnpnpinphn 40dg nbnwhwun QL 6.3 5040 800
3,9,3 33661131 Stunpwpphwnw 100 g ntnwhwun qC 13.5 33750 2500
3,9,4 33671135 Ywighnwih pinphn 10% 54; upjwy Q< 45 1800 40
3,9,5 33642220 Utph| wptnuhgninu 4dq ntnwhwun qC 50.93 280115 5500
3,9,6 Q<
33631310 THhyndtuwy(nhyinptuwyh twinphnd) 10dg/q 30q hwun 149 7450 50
3,9,7 Q<
33621140 Yinwhnngpk|75ug Hinwhwun 87 34800 400
3,9,8 Q<
33621700 Utiwnwpninp 100 dg Hinwhwwn 30.1 45150 1500
3,9,9 33611420 Ywghnudh gyniynuwwn 500dq ntnwhwun Q< 6.98 13960 2000
3,9,10 Q<
33631290 hpniypndtiu 200ug Hnwhwun 8.5 4250 500
3,9,11 33621690 Ywpyhnhiny 25 dg ntnwhwun Q< 27 94500 3500
3,9,12 Q<
33611120 Swdnwinphnhu 40 dg Hinwhwun 73.18 109770 1500
3,9,13 33621760 Euwwwphy ( Buwjwwphihp dwitiww) 54 nbnwhwun QL 4 60000 15000




3,9,14 33621210 Bpywpe wwpniuwynn hwdwlygnieintu100dg nGnwhwun Q< 89 71200 800
3,9,15 33671119 wwpwgbunwdn 500dqg ntnwhwun Q< 3.75 5625 1500
3,9,16 Q<

33651112 Udnpuwghihu-pjwyntwpepent 500dqg+125dqg Hinwhwwn 116.7 175050 1500
3,9,17 33631110 Uhunnunhu500000 U/q 15 hwwn qC 19 50
3,9,18 33621540 Mwuwwybiphup hhnpnpinphn 2% (2d;) 24; upjwy QL 38 2280 60
3,9,19 |33641413 Nhpuwdbrwagnu 0,1% 10 4; upyjuwy Q< 563.14 6757.68 12
3,9,20 33621580 hhnpnpinpehwghn 25dq ntnwhwun Q< 11.39 17085 1500
3,9,21 Q<

33621420 Uwnnpjwuwnwwnphtu 20dg Hinwhwwn 25.55 107310 4200
3,9,22 |33671130 YhdEuhhnpwdhu(nhdtuhpnpwdpu 50dq ntnwhwun Q< 8.89 5334 600
3,9,23  |24311530 Mbphhnpnp 33% 304; upyjuwy Q< 83 8300 100
3,9,24 |33642240 (hwdwqn| 5dg ntnwhwun Q< 11.09 15526 1400
3,9,25 |33631470 Ptwmwdbrwqnu 1dg/q 15q hwun Q< 865.2 43260 50
3,9,26 Q<

33621720 Fhunwpnin| 5ug Hinwhwun 7.95 23850 3000
3,9,27 |33691145 Uwqubighniih unydwwn 25%(54)) S4; upyjuwy qC 31.4 1884 60
3,9,28 |33671131 (npwwnwnhul0dg ntnwhwun Q< 21.63 32445 1500
3,9,29 Q<

33631310 Thyindtuwy 50dqg Hinwhwwn 14.45 43350 3000
3,9,30 33631310 “Hhyndtuwy 10dg/q, 50q hwun Q< 386.1 7722 20
3,9,31 33691129 Lwuwphnuwh pinphn 0,9% 54 upjwy Q< 31.14 6228 200
3,9,32  |33611360 funitlgh$tipn|Sdg/d;(200000UU/4)) 22hYy Q< 659 329500 500
3,9,33  |24315300 2nwoduh wbipopuhn 3% 1004; upjwy Q< 103 10300 100
3,9,34 Q<

33631300 YUbinnwnpndbu 150dq Hinwhwwn 130 520000 4000
3,9,35 33621590 Snipnutidhn 10dg/d) 24; upyjuwy qC 24.2 1936 80
3,9,36  |33651111 Udnpuhghiht 250dq/541g40 g 100 4| upywy Q< 783 234900 300
3,9,37 33621620 Uwhpnunjuywnu 25dq ntnwhwun Q< 35 560000 16000




3,9,38 Shwnndinpuwghti(ghwnninpuwghth hhnpnpinphn) <

33651134 3dg/dp 54; upjwy 450 2250 S
3,9,39 33631250 Epwun) 96% 1 | 2h2 Q< 1050 42000 40
3,9,40 |33661133 Lunnnww Ywpphnnww 250dg+25dqg ntnwhwun Q< 83.7 83700 1000
3,9,41 33651118 gti$unphwpunt 1q upyjuwy qC 142 21300 150
3,9,42 Ve

33621210 Gpywpe wwpnwwynn hwdwygnieintu50dg/5d) 1004 22hYy 1545 231750 150
3,9,43 |33631290 bpniypndtiu 20dg/d; 1204, upywy Q< 1794.78 628173 350
3,9,44 133621230 dbnjwppent Sug nGnwhwun Q< 5.5 5500 1000
3,9,45 33631100 Uhynuwgn| 2%15uqg hwun Q< 328.38 39405.6 120
3,9,46 |33642210 Mnpbinuhgn|nu Sdg nGnwhwun Q< 7.25 19575 2700
3.9.47 |33691123 Utiptunwgn| 500dq ntnwhwun Q< 362 72400 200
3,9,48 33631260 3nn 5% 30 4;, hwwn Q< 280 16800 60
3,9,49 Q<

33621690 Ywnybnhin| 6,25dq Honwhwun 14 56000 4000
3,9,50 |[33671114 Udhundhhu 24dg/d] S4; upyjuwy Q< 3.78 13230 60
3,9,51 nGnwuwwuwn Q<

33611350 Uuynpphtwpepent 50dq ht 8 8000 1000
3,9,52 HEnwuwwwn Q<

33651111 Udnpuhghhu500dq ht 36.7 58720 1600
3,9,53 Q<L

33651112 wdopuhghiht pjwyniwuwppent (125dq+31.25dq;)54] 22hy 975 243750 250
3,9,54 |33651148 Yinnphdwgn| 10dg/q 20q hwwn Q< 618 30900 50
3,9,55 33671130 Yhptuhhnpwdhu(nhdtuhphnpwdhu 50dq nbnwhwun QL 21.9 1314 600
3,9,56 Q<

33631310 Thyndtuwy 100dg NHnhwwnbp 25.4 88900 3500
3,9,57 Utwnnwpndbu 25dg/d|; 30g nnunnn wpwnwphu Q<

33631300 Yhpwndwu hwuwn 396 19800 50
3,9,58 33621590 Snipwubdphn 40dq ntnwhwuw Q< 3.09 24720 8000
3,9,59 33621360 Qhgtiphup Gnupwpwwn 0,5dq ntnwhwun Q< 7.59 15180 2000




3,9,60 |33621370 hgnunpphnh nhuhwpww 10dg nGnwhwun Q< 15 30000 2000
3,9,61 33661142 Udhwphwwnhihu 25dq ntnwhwun Q< 9.1 1820 200
3,9,62 |33641413 Nhpuwdbrwanu 4dg/d) 14 | upyjuwy qC 47.6 14280 300
3,9,63 33621110 Jdwpdwphu Sdg ntnwhwun Q< 34.55 62190 1800
3,9,64 Q<

33621710 Uwnbuwin 50dq Hinwhwwn 3 6000 2000
3,9,65 |33611190 U6w| 300ug ntnwhwun qC 12.18 24360 2000
3,9,66 Q<

33621730 Jdbpwwwdpl 80dg Hinwhwwn 25.99 46782 1800
3,9,67 wdwnywub QL

33621380 THhyndtuwly bwwnpphnd 25dq /d; 34; n 81 32400 400
3,9,68 33621740 Udinnhwhtu plighjwwn 5 dg ntnwhwun Q< 6.4 96000 15000
3,9,69 Q<L

33661121 Ugbiinpuwihghjweent 500dq Hinwhwwn 4.87 12175 2500
3,9,70 Q<

33671113 Uwpninwdn] 100dyg ntinwswth, 200ntinwswth, hwun 1250 257500 206
3,9,71 33661156 (Ghdnnih dwjbwwn 5 dg/d| 54; upyjuwy qC 441.6 44160 100
3,9,72 Q<

33621720 Phunwpnin; 10 dg Hinwhwwn 20.22 40440 2000
3,9,73 Q<

Muwuypbwwnht 125dq (ny ywlwu pwt 2800UU, ns

33611150 wwlwu pwu 180UV, ns wwlwu pwu 3000UV) nbnwhwun 120 36000 3000
3,9,74 |33611210 Uny$wuwjwghu 500 dg ntnwhwun qC 64.37 64370 1000
3,9,75 HEnwwwwn eVg

33651111 Udnpuhghihtu 250dq ht 30 9600 320
3,9,76 Unydwdbpnpuwgn| +Sphdbenwphd, 200Uqg/5d(+ QL

33651131 40uq/54) 1004; 22hYy 480 57600 120
3,9,77 |33651224 Ubtiwnnunpbpuwwn 2.5 dg ntnwhwun QL 55.7 16710 300
3,9,78 |33691112 Ubuinpnuhnwgn| 500dg nGnwhwun Q< 46.75 23375 500




3,9,79 Q<
Luwwnphnuh pinphn, wihnuh pinphn, twwnphnuh
ghunpuwwn, wugnin gyniyng nbinwihngh ninwswihyws

33611220 (3,59+2,59+2,99+10q); 18,9q thwpbp 233 58250 250
3,9,80 33611240 Uywhjwgywsd wénifu ntnwhwun Q< 2.88 5760 2000
3,9,81 33671135 Ywghnwih pinphn 10% 54; upjwy Q< 70.99 4259.4 40
3,9,82 33631300 LUbwnnwpndbu 50dg/dp 24; unjuwy qC 132 18480 140
3,9,83 |33671119 Muwpwgbunwdn] 125dg/54d] 1004; 22hy QL 360 28800 80
3,9,84 nnwwwwn Q<

33651150 dnynuwqgn| 50uq ht 59 26550 450
3,9,85 33631170 Stwnpwghyhu 30dg/q; 159 hwwn Q< 400 20000 50
3,9,86 Q<

33651131 Uny$wdbenpuwgn| +Sphdtenwphd, 400dg+80uq nGnwhwun 10 10000 1000
3,9,87 |33631120 Stipphuw$hul% 30dq hwwn Q< 1000 30000 30
3,9,88 |33671114 Udhun$hiphu 24dg/d;  54; upyjuwy qC 37.4 2244 60
3,9,89 33631230 Mnyghnnu jnn10% nwdnype 22hY Q< 500 5000 10
3,9,90 <hnpnynpinhgnt (hhnpnlnpnhgnup wgbinwin 4<

33641414 10dg/q 10g hwn 550 44000 80
3,9,91 Q<

33631290 hpniypndtiu 400dq Hinwhwwn 16.4 24600 1500
3,9,92 33661128 Ywppwdwgbwhu 200dq ntnwhwun Q< 10.5 42000 4000
3,9,93 33621380 “thgnpuhu 0,25dq ntnwhwun QL 5.1 15300 3000
3,9,94 nEnwwwuwn Q<

33611100 Odtiwypwaqn| 20dg ht 10.7 42800 4000
3,9,95 |33651116 8Edwagnihup bwwnphnd 1000dg upyjuwy Q< 152 76000 500
3,9,96 |33641413 Npuwdbipwanu 0,5uUq ntnwhwun Q< 27.38 21904 800
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